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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge AS & A Level English Language
9093, and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s
curriculum and assessment objectives.

In this booklet candidate responses have been chosen from the June 2021 exam series to exemplify a range of
answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by Examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions, mark schemes and inserts used here are available to download from the School Support Hub. These
files are:

9093 June 2021 Question Paper 11

9093 June 2021 Paper 11 Mark Scheme

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses -— Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the Examiner comments.

Example Candidate Response - high Examiner comments

L o | Jameicou Ronng xc \Wins_ ving a @ The candidate demonstrates
00_murce,_qord Medal, USein Bott | | acharacteristic feature of a
Delnones ASMQE_EQ_(&__Q,\\ . newspaper report, e.g. a heading.

The use of ‘Dethrone’ effectively
commands the audience’s attention.

030U Bold_wind_is et Hst &lumeic

30\61 N\Q’Q,Qﬂﬂ' (2L0d, - Brean mg' Wve, | | @ The candidate shows a detailed
- | understanding of the main focus of

WD o name seein_as Bowk, ¥l | | the given text.

Il 1 A A A tan 9.4 s S | —
Examiner comments are
alongside the answers. These

Answers are by real candidates in exam conditions. explain where and why marks

These show you the types of answers for each level. were awarded. This helps you

Discuss and analyse the answers with your learners in to interpret the standard of

the classroom to improve their skills. Cambridge exams so you can
help your learners to refine
their exam technique.

How the candidate could have improved their answer \ /

¢ (a) The candidate used effective expression and their content was relevant. To improve their answer, the candidate
could needed to include more details from the given text. The candidate stated that, ‘from the very first second
of the race’ Bolt ‘took an immediate lead’. They didn’t take into account the fact that Bolt ‘stumbled’ and that
Thompson was ‘right there in front’. This detail was significant because Bolt needed to remain calm and maintain
his composure to win the race. The candidate could have incorporated other important details, such as Bolt’s
ecstatic celebrations ‘ten metres from the line’. This would have lifted the response to one in which the ideas were
fully developed throughout.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

» (a) When candidates did not apply characteristic features specific to a newspaper report, this resulted in
inconsistency in purpose and audience. Descriptive writing predominated in the weaker responses; this goes
beyond the purpose and genre of a newspaper report.

¢ (a) Some responses showed misreading of the text; for instance, a few candidates identified Stockholm as another
competitor, for example ‘Stockholm led the pack’. There were some areas of confusion regarding Asafa Powell
and the timely completion of the race. Some candidates’ reports included unnecessary extraneous material, for
example a history of the Olympic Games as background context.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpreted the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Question 1

Example Candidate Response — high Examiner comments

B

(08

a0 Ronngx \Wins vine @

0 wuere, @otd Medal, UScin Bold |

Devnones Asata Pouell.

0SCUN Bolk wind iy N st &lumeic

| q01ck_medo m-rcwrc&«\égucea\mng"iam@.

. | understanding of the main focus of

WA _a name. scin_as BOW, ¥als

( ,OQD%~mmm‘;w_0_t§_c¥emzi- W0 e Q

ot . S 500N 65 ¥g g sigral
weni O - Bolx doshed 0 Mo _ead.

: the candidate recognises Bolt's
speed in the pun on his surname.

0f Me otV 9a8SINg Olympic
NCALAONS__ Do aS Aaord Themessn

| of Bolt's main rivals, Richard

i 'Wiwid;&d_m:fnmso'

N0, exQeoked (e

WS40 e AsatBsuse M Lom TamoiCa ..

Lokt

aomd_sm%v%_hwm VS B0l Y00y
WiN~ BegoLfu) 10 swides, awell

WOS _Nnoude £o_neoue i, Ay g S0

VArd_ A0 (0l 50 VSGAN \OOW wenind

Q“l“”a @S 1E N0 LoAd_SLaxtniOS) ol wis

| | stage.

ommal wwo Wad Collen welind.

WOM wne vexru Hiesk second of 4o

@, Usaiwva_ Bk toolh ax smnbdiate

e fGce of sHemun ond 4@ S on

Lipdred, livre,. This b3l _udiood @ aouiohd
1be_HA0_ticst oe many gold_wiedas  fow

 conolON Dsoin Revk,

ad ond snowed Mae oot asaete woaok

a The candidate demonstrates

a characteristic feature of a
newspaper report, e.g. a heading.
The use of ‘Dethrone’ effectively
commands the audience’s attention.

9 The candidate shows a detailed

the given text.

@ This is an effective expression;

o The candidate refers to one

Thompson.

e The candidate shows a detailed
understanding of the context, the
former record holder, for whom Bolt
is constantly looking.

@ The candidate gives details of
how the race is progressing at this

e The candidate uses an effective
expression which is relevant to the
audience and purpose of the article.

Mark for (a) = 8 out of 10
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Example Candidate Response — high (continued) Examiner comments

L] b | e ovexall goemad | sbuekove | and ‘lanquagc_
|_0o% e ammb(oqmphu LKCR x4 LS

- asrw\u MG -W\D. COOLOES: ¢ WO (QUSSPORec |
A, AL bk 0, W, ¢ asitplography

i5_slhwocored uve. o-skocty - WUre axe monu

L VR BreiAS | e, Osein L_.,_Q_QB_KQA(.C.Q&LS“_______

1 nisS_innex moam—s IV ILOLICS: Me SUMCVPS ‘

| KoM 005k +O- presem— e NSE wexu ofeN .

“Q_m&&eﬁi_twtwaoﬁﬂg

TS eXpexi e e, wac,u/.d_;\@ Wy Ceadec. e

LOOrieS IV RYeskk ke XISE -pevion cevem\ﬂge __________

IS ANeandsS WA, | mﬂmaq W Yo Qe s

1T wse %4 resents ense VLQ/\DS ‘XO

TMouy g, veader wien W 1S m\%ma QoL

IS WIS, docing e e, e _mwsmp_ez_tm.w

arkicle. - \% mrmax{-ed WWL o \godling waat |

¢ [AKOAREES W0 aybiet mattel. Taun

AL axh_cL@__wnhm,e_s i, sm “pma%rapbs___

e The candidate offers a general
introduction to the given text.

(\pnng «V\L COLe. B p\eres oxe
Meected 1owards 500 ASAOES. . pot g,
| QAMO0IOA RN W AS_a N audiente usno
aWeady WoroS. povio Osdin Bolkis.,. udane
o M»Sm?)’ iS. \ﬂmwoﬁg_&bnan\— N
Stox 0. 40 Bl 5 .
MR sucore  of e ou.))(ob‘ o5 qg
iS5 _a cmono\oa\ca\ CLOWEIG o€ usoum
BoOWs, e,\lobnwe, ol yaniag) \is  Arst
%D\O Medal. . TN, dcss maraph is
() Inpdochion gnexe. OSaiYY _Bod= .
_:z)lo\cuns FO e Radex ik Wo was
W\mmma QoL bekore.: AN, e sheed,
- [e 8va\ CONKMUES wivn_ 0SS _descciotion

Q The candidate makes a
comparative comment about the
audience of the text.




Example Candidate Responses — Paper 1

Example Candidate Response — high (continued) Examiner comments

Lot e e _aund X, wwiex -s(v\ouqn’cS
'-'obmma KON Usain_Bolk. k-\e%ees wen
and_(’_Q‘ﬂ’\"\ PRAURLN. PaS:- 1N desariekions
and_Qeesent._YeNSe wex_ Wnoudpes: . Elen
‘w\m_Mchyao%mia_jmsas e soing
152050 70 SO o vexy VoSt emqra-m
CONCMALS, w@m_ _%_desog_bm_. _Mp

VAR L e X aCe. e Seelingy o : _
': m\mn& a_gord W V\UD_SPQ.DQJF @ The candidate offers some

: n.,c!c\'(‘).e CONBLES dt%ﬁ%&b\"ﬁ g comments about the structure of the
‘ o . . A0g text, with references to characteristic

features, such as the use of
paragraphs and the use of tense.

=\Aeo;d.k am ocies desodphon ona,mwv\
W\kcmdDCﬁS sain. BoW_and s u_p\mnmbo
1V, §S. W_g»&aogm@nggcesm Drodice.
| Bork ox AW S8 Mo renders. alfeaduy -
AR TS Qoo ) mm__\“k\o,.ms?m
OXEACNE Mowexier, wiedS Lo \wAefly. iadisce
1 i ﬂmﬁ_wﬂ_uu_d_bc e0dessS wn g
AN ¢ nnow wno Bk was: Kag -
oXKOR _ONTWWES "widA o desuderHon:
L Of ok peek on: donng W xace ond
enroned  ASGEA - PouR\ s veadecs_coud
lmahe o. comeodison perween wim aod -
Bolk. e vinat oo,m,ckmph wewdes a
predichon 0¥ BOIY/S, -¢OYUL secesS, sinee
Mg, OABRCLR. 1D cNenag Nis fHirsk-
| O\Mmo\(: NGO - : o
‘ D\WS_M_NM%_Q\MU\-\ W uoexox-
HoM: WA, uNOVIG oy ShaasS: Ve
pessonal XA ezmo\—\onqx \om\xme o
o Use.__0¢ \Wex . WS wnk’y,n AN @The candidate uses an

: presek .m\gi SUEV s ke S\ro\[h‘\(\,()\m,\[o_. - | appropriate selection of language
for the analysis.

m The candidate focuses on the
different approach to the content.




Example Candidate Responses -— Paper 1

Example Candidate Response — high (continued) Examiner comments

ok Rexremioe sm\\mo\m WOAPS e veadec |
bEeel. al_wne emoions Dsodn Bolk was
xme;kina\ iR cunning . -W\Q; e, Yo oses

S E12/oV O ol wq,\aomhnns SN _GS

“vdom‘ N Lo main” 0nd_“caiy ™. TAgSe..

| s\nork , exciomaxions, il XL w_ oL

Sakn Boly m{:; Yeachwné . W‘f‘@ @ The candidate makes a

oomq N @uoo__ *“mm“““ - COSUGHLSS. © sophisticated analysis of how
MNZ,S@ quo\{g “OX \e. XD M0 ceades the writer’s choices relate to the
mnd_\@\o W\om__sf,e_nou\),_ﬁosmn Sok_. audience and shape the meaning of

1S -JOSK G YeguIBX Moo (ine exeenentes {| the text.
.A—m_sm_em;o_@n_%_us NEXOAD. eNse:,
., [VSaan Bolk oS casual ond elakable
maoaa@ WXOUO\VL@\)'\ yne 8&0\'1,\ ot gives
W _m¥_a_CM)X_Q¥B_d_€S§zO\9hOD nay Ne
1 eodexs Con velee O any o N ey e
Q. UBUN RS U veadec. wow e
ool XN oedead® vo. Faiml sele.
~ A eNXty wORe, kS NG iS Bhowen
LA \oeo\mn\ﬂq c¢ e, 200 ond . :
-»-mmm_axe\g ngmgn\_s m_‘s_\ce,wtdﬁotdm ]
m\U\W\D\( qo\d MeAdalsSk. (V- a0 ¢ S_Oﬁ__
feadexs Ao also WneVAES wnes -
Jsuen @s h gonere. W Wl iS Asa cdl l—\,e-
|does k. mies_Aoton NS, \ozn%u_aqe O -
seem wipre ®. elexaked e uses cammonty
| vsed).. coBLEY pUIaSES 30_¥NAL oy reader
o UMWmdM_nLW Hovs, @__ @ The candidate refers to and
HQ_eNUN USES FTOMELLOD_JN0AY TV comments on dialect words.
43 _“oreddex”_odnith_SAOODSS Mg _reader. ]
wiox Wuse wexe, Wi ovgine | Hougits
Wk uoRx@. LA eorsong),

TR wiwseaeer exkcie hos_moci

@ The candidate gives an
extended exploration of how the
writer’s stylistic choices relate to the
audience.
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Example Candidate Response — high (continued) Examiner comments

Altexeny \ameact: ok 5 moe_inkeomeldve
L and: %hms\o;@_&?\slo.ﬂ;emﬂ&__oc- \ems O

Mnp (el YIS _BXIA0e. IS o, RSLARKon

6¢ 0 vowe oM. _oun.codside jcomaust
\m\Nl\O\ WL ydiaxeas e _ankbblograeny

|cones. Erpen . Usain - € Sg\,&isdw Pecsonad

| oGOk Of Vit XA 3R ASLAVRS,
.\Aow “Bo\d_dasined . -eea?_.\zo..w_\gm Of WNQ.
o TSNS_A«MG._M desuagnon . s exeécied

o, M-@M\de_&o&m\ms& Shace_ e

onw\ Wing -wxw con AeSCaRe. S unlUe

WU?) scwaa WA HAQ,___._ XIACAE , SW\Q, %nm

1S very smgm«x_ﬂc_c\ g arobl lO%m,p_klg_._
wm:cu.o_s_a\xmeé_ AANIOK WMok Tneludes.

onknisned. ¥ANULs sben as, " shoutd,

Lo _asoued: . the s ELAKAX. 30 M0 autobioquoety | | integrated approach to the
CKEOAES O0Ore - SA1led, Gge 6¢ Boww'S comparative analysis with their
el daDugiol . e cace. W okl - | comments on syntax.

has _asiC Symox Viaddk 1S only ook 4o
intorm. e auhicle OBES Ny “oosIHve
loguage end gives wua\e PrCu\SQ b Bott.
e arti ae_demx_\bes_mm a3 e el

@ The candidate shows a
comparative understanding of
context and point of view.

@ The candidate offers an

| 0¢ “3erengen' and “agermingiion” is @ | @ The candidate selects individual
o 05&; Y oROke 0N el roodsS word choices for analysis.
Ky (eadexs onok 40 0Pk oM exCAKd Mark for (b) = 14 out of 15

’*F@\Ahuﬂ% AireLMyY YO ¥ weae\m;_.mm\e
Ynd: gustobioo ro)p_mﬂ_%us_a_ J’_!d,_UE_LﬁLCl
| BOS. {0 iaes muam—s :

Total mark awarded =
22 out of 25

How the candidate could have improved their answer

(a) The candidate used effective expressions and their content was relevant. To improve their answer, the
candidate needed to include more details from the given text. The candidate stated that, ‘from the very first second
of the race’ Bolt ‘took an immediate lead’. They didn’t take into account the fact that Bolt ‘stumbled’ and that
Thompson was ‘right there in front’. This detail was significant because Bolt needed to remain calm and maintain
his composure to win the race. The candidate could have incorporated other important details, such as Bolt's
ecstatic celebrations ‘ten metres from the line’. This would have lifted the response to one in which the ideas were
fully developed throughout.

(b) The candidate showed a sophisticated comparative understanding of the texts, with insightful references to
characteristic features. The opening of the response took a themed comparative approach with reference to format,
structure and tense. To improve their answer, the candidate needed to strengthen it with evidence from the texts
and use specific references and quotations. Whilst the responses offered themed comparisons and dealt first with
the given text and then the candidate’s own, an integrated comparative analysis would have improved the answer.

(b) To improve their answer, the candidate needed to use more precise critical language to link the evidence with
their explanatory comments.

10
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Example Candidate Response — middle Examiner comments

\ a | Usan BOW'S \J.\(’YOY\J0 a The candidate shows an

> TIR SUTRENET OlyenpicS_CONTNURA_Tis Lieek. wilkn mare ?en;e;:tz?zl :ge O]; aachearr?:ti:tstllce
W l.e.
COMPRIRONS 10 VALY oF SPOFYS, £rom_gymMNASHCS 1a_sWEnning. | y pap port

itle.
ONE. 0F ESe cONPRTTIONS Was in rack and_sield. The 100 meielSy a file
BNOL Q0K place. TOETR_wiere TUnRErs £ramm.all argund_the mand. @ The candidate shows an
The unners Included Richord Thompson. (ranidad and Tahago), understanding of the focus of the

WOITET D B LUSAY., CHUTORCY_MATTDO(NGIENANdS ANNeS), wichael | | 91ven text.
Frorer Liomaica), Marc Rurns (nidad and Tabage), Domis Barron._ (WA, | e The candidate refers to the
; UsAin. Bt damaica), and sne former 100 paeters world weord holder runners in the race.
ASQEQ powetamaica). ‘ ' : . :
~ ‘fusom‘- oIt botted MiS way 1o VCiory N 1e 100 meret nnalithe | s?ntl:iecigﬂgit:t Thczctizisntnhii;thls
| U SPrnKers O 1AKET el LS GLEiaring e, Te0 8 | | of the response. It is relevant to the
"C\Uﬂ DT ot and_all 1e NREY DEQAN SPIRANING WA ADC_ Einish | audience and purpose of the article.
ine. B4 THEY_TaN QS OS¢ qu\gY\m\m_Bmmmmm NONE QIOCKY .
| SIOKE, b e ICky FOund.ols. GIave. THOmMpsan wids 10 EaN, Hut e
B0l wias ey carching up from. eind. Bait wias buuxgmmcmum_
lond s close bepind. They Wer neck and neck. - @ The candidate shows a clear
. understanding of how the race
b The_ofgnal e tcoxx\_\)sc\\xma\w‘umm\:ﬁogmpm_; progresses.
N Which e descries.fne 00, ACIETS TO® WHelR e wanie fisE | | Mark for (@) = 5 out of 10
6% OlyMDIC nedal. On e otrer hand, 1y ¢ m_m@wég RS
O eport.of NG FOCE £E SOV TNE_SRA_SECAN. of 0.NeSRAper.
‘ "R ta =
The-cwiosionH POIT US GENIE elernens St 1S

@ The candidate captures the
details about the start of the race.

@ The candidate gives a clear
comparative understanding of the

C\\\’VO\)\QQTG\D\\\’L SUCN s ﬁ(stpﬂsgm PANT of_VICW. E tie estanishes content

TS PRADIEOR Niel) ¥R toe_ LegIing ¢ o\_mﬁ_mmmsgm\mm&._-

e BIREERCISON. PIODAUNS ke “1" ond “ roy", T COMTST, T use, @ The candidate shows a
e genttelenent ofa readiiog, fiHing vy digcied WMDY *usian comparative understanding of
Boits iciary.” becuse 1 isSara newSPaper, addinanally, Bt pegins | | characteristic features.

e 1ext it erseReRee endiRg R AN eXA0MATNIN BERE, Witing
“RAng:", wiich e claes 1o’ sound.af e gun gang ok, Toe |
USe of on_eXAAMMCTION POINT A eNd T ANMANPOT eLpNASTZES AACTHe
qun \s_m\x\ﬁm_\m_\} )T alS0 Sraied 1oroon Ty Teportuiih an
exarnaiolf irnrmecictely gm\)bw\v_@mjmm 5 QITRONAN. MORONEr, |

@ The candidate continues

the comparison. They give an
analysis of the use of exclamatory
sentences.

1
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Example Candidate Response — middle (continued) Examiner comments

BOK LSES TP SO, SINPR_SLOTETERS TTRERONT TS auioediapiy |
EXIroct, shch 05 T gianced) oeToss 1t BRe." e d&S ARg 10 bid
SUSPRNSE, any TRNING Ae Rader o vk Biraraficne. XEWNIR, 6 T wseane |
| SOTTSROMENCE “They wete neckand. neck. 3 mm\ m\_emi\,mﬁa_ ,
JI0UGH TEY e SCHUCY G e TORR el @ The candlfiate compares the
‘ it use of short, simple sentences and
T oddifian, BOW, uses-verss in W\Lemtu_uw e webh it - .
how the writers’ choices relate to the

10 lef ¢ eoder KRON wihalr e WS eI MOMRE dstingaveoce. md 1 oo
6 5e_o TRRENTON,_RRRCKING "Y' fouT HiTdes N one paragioph,
Jond e o tnse fiCtes 1HG OKING UP & Ine SR  Chl, N, @ The candidate does not offer
coil.” empISIACE A foct O UGS NG 0 Sty Ol Focomsecsy, | 2 thematic analysis here about the
0 N acanan S y repetition,‘ but is mpre general, f?r
| T ontrasHPT Use e HOWN. “RoNk” 10 1Y TEPOTY sk s HATING example, ‘better picture the race’
reader con betier PICTure 10e e, 56 . St Addanaly | @ The candidate tries to show
05 BOW_USeS ¢ cmmmmmmummﬁg\.dm l'_‘,ig,mbhmgm_ a contrast here, and gives some
(eQdRTS GHENYION, afd apReANing IO TNAL NS of se saund. onAe | | analysis of individual texts.
oiner nand, T use e SN " 08 AST a5 MGINTTING 10 descrie toe
| SPANKTS_andernpnasize Fnerspeed. Bisd: BAT YRS SuspRN Y Ao,
dRSCNING A 1A 05115 HOPRERING, WITh Ine redel wonie o KA |
AWNAT NOPRRNS IR BN POIDKS TFE T copt see @;gmnme_ue: (® The candidate shows a
ORI BORTT_T0DADE SOME wa: T l0 1SR sispEnsefll dicion w4 comparative understanding of
POIOKS He * G(ﬁehr% CO\T'(‘\\m up oM herind . language choices.

FURDRTONAR, 10 cmmgmpm B use bt oS TOT
ommcmm_mqs_u\sg_usg_m\sc\ﬁdm\ 1o differentiate betweed |
MINAY 1k 16 deSCIRING. 15 NapPeN. and 1< 16 W 1S JANgTgh_|
S e, He Haliczed ‘(\\%m\mﬁs ' BOW 100NN VSES SPOTT
RASAORNG, SOME anly mmteme \ofg, NN exRprion of-1he
Foitd pArOGIaph. e e ST PRrson pOInat view and (oes in .
COODAIOFPAN ardier. §8rt UNke BOR, oy cirecied WAKNG 15 a @ The candidate shows an
FEROT 00 PRWSRARET. T howe o Hradiine afe tralrs pigerthanine | understanding of differences in form.
TRSY O ¢ fextand. T.se pajagraphs. T oedin witn bockgiawnd e
6 INKONCNCNON, THRN T descrile e 1ace CAGTRIGANY.

A0, RO SHITHS T00e W foe toe exAamCiion “Tmgonpa.uin_|
NS race!” TS SIS 00 fone SO oreviclsy waoried loexded. |
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Example Candidate Response — middle (continued) Examiner comments
TRISPANSE STIYS T TR ST COLS ool whots GERg 10 (B The candidate shows a
030 10 exCiied Oy RAITINGY e 15 ot 10uin. Moreouer, NS st | | comparative understanding of

structure and the effect of the
writers’ choices to shape the
meaning of the text.

A AUINGES pRTSRRCNE 1RCQUSE e WS PEVIOUSIAPEPRCHiDG ASKEQ O Wi |
DUTne 15 NOWS CXRRCTING 10 Ui LKEUASE , T SpiETIIN FGR Srom

reioxed §0_SusRe SRt i e PRICE " Tacky sYONT: % TS also SRS |
e (00eck (oW eNOKING AN XIS THASAEIOM e reader. Tois also Mark for (b) = 8 out of 15
SIS Ty eEsPeCiive Sronn desAing e face 10 geiefal 1o_natialing |
for evelNs.

Total mark awarded =
13 out of 25

How the candidate could have improved their answer

* (a) The candidate included extraneous material in their answer, for example at the beginning of the response they
referred to a ‘variety of sports from gymnastics to swimming’. To improve their answer, they needed to maintain
their focus on the material in the given text and be selective in their use of the material. The candidate gave a list
of the runners involved in the race, but they could have selected more appropriate evidence, for example Bolt’s
continual review of the competitors’ progress and how the race ended when Bolt realised that he was ‘the Olympic
champ’.

* (a) The candidate gave a descriptive summary of events and the answer ended abruptly, ‘They were neck and
neck’ so they were not able to develop their ideas, and the content was not always relevant to the audience and
the purpose.

¢ (b) The candidate offered evidence and gave explanatory comments in their answer. To improve their answer, they
needed to include a comparative analysis of how the writer’s choices of form, structure and language were related
to the audience and shaped the meaning of the text. The candidate could have used a clearly integrated approach.
Whilst they moved from a comment about the given text to a comment on their own writing, the areas selected
were not always thematic, for example, a comment about the use of the verb ‘chill’ and its repetition in the given
text and the use of a noun in their own text. The candidate took a successful thematic approach when they offered
a comparative analysis of ‘suspenseful diction’ and the ‘shift’ in tone.
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low
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Example Candidate Responses — Paper 1

Examiner comments

a The candidate lifts their

' | headline from the opening of the

given text. It lacks relevance to the
audience and to the purpose of a

. | newspaper report.

| | @) The candidate refers to the
I | famous sprinter.

9 The candidate refers to the gold

- | medal which will be awarded on

winning the race.

@ The candidate refers to the
approximate time it takes to run the
race.

e The candidate refers to Bolt's

behaviour during the race.

@ The candidate introduces some
errors which sometimes impede
communication.

e Here, the content of the article
lacks relevance to the audience and

‘| purpose of the article.

@ The candidate introduces some
errors which sometimes impede
communication.

Mark for (a) = 3 out of 10
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Example Candidate Response —

low (continued)
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Examiner comments

@ The candidate identifies a
similarity, but they give a limited
comparison of the structure.

| @ The candidate identifies a
oncl__this «;mugﬂmﬁ__o_u_@s_m-_r:o_f_é_c_‘__‘

similarity, but they give a limited
comparison of the structure.

@ The candidate gives a limited
comparative analysis of how the

1| writer’s stylistic choices relate to the

audience and shape the meaning of
the text.
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Example Candidate Response — low (continued) Examiner comments
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and some selection of evidence.

Mark for (b) = 4 out of 15

Total mark awarded =
7 out of 25

How the candidate could have improved their answer

(a) To improve their answer, the candidate needed to include more details from the given text, such as the other
runners involved, the fact that Bolt stumbled and then composed himself, and how Bolt reacted when he knew he
was going to win the race. The candidate did not make it clear that Bolt won the race, that it was the 100 metres
race or that this was where Bolt won his first Olympic gold medal.

(a) The answer lacked relevance to the audience and purpose and showed a minimal development of ideas. To
improve their answer, the candidate needed to apply the characteristic features specific to a newspaper report
when writing.

(a) To improve their answer further, the candidate also needed to show greater technical accuracy, especially to
grammar and punctuation. For example, they missed apostrophes for contractions such as ‘Whats’ and ‘Thats’,
and the tense shifted from present to past in the last sentence. There were occasions where their expressions did
not flow easily, for example ‘He needs to keep chill.’

(a) The candidate needed to avoid lifting material from the given text, for example in the opening word ‘Bang!’.

(b) In the first paragraph, the candidate made a descriptive comment on ‘linear structure’ to compare the structure
of the given text with their own. The following analysis was minimal and the comment was very general, ‘it allows
the reader to have an easier time putting the pieces of what happened together.’

(b) To improve their answer, the candidate needed to use more critical language and be more precise. They
referred to ‘literal’ techniques, but the candidate probably meant ‘literary’. The candidate needed to explore more
than one technique. They only chose to explore ‘telegraphic sentences’, and this narrow range offered only minimal
comparative analysis.

(b) To improve their answer, the candidate needed to analyse the language used further, for example, the use

of rhetorical questions and their effect on the reader, the use of imperative verbs within the internal dialogue
(‘Remember Stockholm’ and ‘Do not panic’) and the way in which verbs were used in the given text — then compare
this with their own response.

16



Example Candidate Responses -— Paper 1

Common mistakes candidates made in this question

(a) Some candidates did not apply the characteristic features specific to a newspaper report in their answers to this
question and this resulted in inconsistency in the purpose and the audience. Some lower level answers used much
more descriptive writing which went beyond the purpose and genre of a newspaper report.

(a) Some candidates showed misreading of the text; for instance, a few candidates identified Stockholm as another
competitor, for example ‘Stockholm led the pack’. Some candidates were confused about Asafa Powell and the
timely completion of the race. Some candidates’ reports included unnecessary extraneous material, for example a
history of the Olympic Games as background context.

(a) Getting the balance between showing understanding of the passage and crafting an effective answer was the
key to this question and many candidates tended to be a little too safe. Rearranging chunks of text was not the way
to demonstrate understanding in this question.

(a) Some candidates made errors in their use of grammar and especially incorrect tenses — frequently as a result of
being overambitious with their language choices. Some of these candidates quoted large amounts from the given
text in their directed writing, which was rarely justified.

(b) To do well in this task, candidates needed to analyse form, structure and language and to directly compare
different approaches and features in the two texts available to them, i.e. the text given and the one that they have
just created. An integrated approach was more effective for this type of comparative task than dealing with each
text separately.

(b) Limited responses were often brief, focused more on the given article than on their own directed writing,

and tended to summarise content rather than to analyse it comparatively. Some candidates mainly listed the
conventions of an autobiography. Some pointed out the variety of sentence types or length of paragraphs but
needed to refer to the resulting effects. Some candidates gave basic comparisons of onomatopoeia and showed
some misunderstandings of the dialogue and monologue.

(b) In some cases, candidates wrote only on the given article or compared the given text with the text in Question
2, but they were then unable to complete the comparison required by the question.
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Question 2

Example Candidate Response — high Examiner comments
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@ The candidate’s response
offers a full comment on the purpose
of the text.

9 The candidate refers to a
characteristic feature and offers
evidence and an explanatory
comment about the writer's stylistic
choice.

e The candidate makes an
explanatory comment about the
structure and how it relates to the
audience.

@ The candidate chooses an
effective selection of language for
analysis.

e The candidate refers to the
characteristic features and provides
an appropriate selection of evidence
to support this. They use effective
and appropriate language to link the
evidence with a detailed explanatory
comment.

@ The candidate shows an
understanding of the meaning of the
text.

e The candidate refers to
characteristic features to show a
detailed understanding of the text.
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Example Candidate Response — high (continued)
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Examiner comments

@ The candidate refers to the
structure and comments on how
this relates to the audience, using

the shifts in focus between the
description of trees, Wohlleben, his
book and scientific research.

@ The candidate gives an analysis
of how the writer’s stylistic choices
can shape the meaning of the text.

@ The candidate uses effective
appropriate language to link their
evidence with an explanatory
comment.
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Example Candidate Response — high (continued) Examiner comments
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How the candidate could have improved their answer

» To improve their answer, the candidate needed to explore the writer’'s use of symbolism in the contrasting theories,
for example, forests were once seen as ‘battlegrounds’ but are now seen as ‘alliances’. Further exploration of the
writer’s description of Peter Wohlleben could have strengthened the answer further: how his ‘metamorphosis’ into
the ‘very tall and straight’ trees ‘he most admires’ endorsed his credibility as ‘a kind of tree whisperer’ and, thus,

persuaded the audience.
+ To improve their answer, the candidate needed to consider how the writer ‘firmly reassures’ the audience that trees
were not ‘striving, disconnected loners’ through their refutation of previous ideology and references to Darwin.

+  Whilst the candidate offered some explanatory comments in their analysis of the text, at times the comments were
general, for example ‘This grabs the audience’s attention’ — and the concluding paragraph was a general summary

of the overall response.
« To improve their answer, the candidate needed to use greater range, clarity and precision in the critical terminology

they used.
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Example Candidate Response — middle Examiner comments
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The candidate makes an
appropriate reference to the writer's
stylistic choice in terms of tone.
The evidence they choose and
the explanatory comment shows a

| limited awareness.

e The candidate makes a clear
reference to the structure of the text,
with evidence to support it. They
also make an explanatory comment.

The candidate refers to a
characteristic feature and imagery,
with an appropriate selection of
evidence linked to an explanatory
comment. However, the comment is
too general.

o The candidate shows a clear
awareness of the writer’s choices,
using evidence from the text and an
explanatory comment.

e Here the candidate refers to the
structure, the way that sentences
are used in the text and how this
relates to the audience and shapes
meaning.
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Example Candidate Response — middle (continued) Examiner comments
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0 The candidate links their
evidence with explanatory
comments about the structure.

Total mark awarded =
11 out of 25

How the candidate could have improved their answer

» While the candidate has offered an explanatory comment on the shifts in focus, this was very general. To improve
and strengthen their answer, they needed to explore the shift in focus between the description of the trees, Peter
Wohlleben, Wohlleben’s book and the scientific research being carried out on the subject and how this takes the
reader on a journey; both through the forest and through the changing understanding of scientists on the subject of
trees.

» The candidate made some general comments about imagery, for example, ‘the author is able to engage the
readers.’ To improve their answer, the candidate needed to give a more detailed response that explored the
religious, familial and monarchical overtones of the imagery in the text, such as ‘cathedral-like groves’; ‘kinship
networks’ and ‘two old friends’; ‘crown princes’ and ‘skeletal winter crowns’.

» To improve their answer, the candidate needed to consider the evidence of the tree expert, Wohlleben, the sales of
his book and the validation from the scientific community (‘latest scientific studies’ and ‘well-respected universities’)
that trees ‘can talk to each other’.
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Example Candidate Response — low
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Examiner comments

o The candidate refers to a
characteristic feature and follows
this with a general explanatory
comment.

@ The candidate shows a limited
understanding, which could be
strengthened with an explanatory

.| comment.

e The candidate refers to a
characteristic feature.

@ The candidate offers a limited
explanatory comment which shows

| awareness of the writer’s stylistic

choices.

' e The candidate comments on

the structure with an appropriate
selection from the text.

@ The candidate refers to
characteristic features and offers
evidence to support this.

0 The candidate shows an
understanding of the purpose of the
text.
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Example Candidate Response — low (continued) Examiner comments
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@ The candidate shows a limited
understanding of the text and the
writer's choices.
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Total mark awarded =
7 out of 25

How the candidate could have improved their answer

To improve their answer, the candidate needed to give further details for analysis. The first paragraph in their
response was very general, but to improve it they needed explain why the text was ‘unique’ and give further
details about how ‘It’s structured well ... and ‘lts language is very descriptive ...". These statements showed the
candidate’s basic understanding and analysis of the text, but to improve on this they needed to select quotes and
evidence from the text to support their comments.

The candidate referred to the writer’s use of the ‘first person’. To improve their answer, the candidate needed to
explore the writer’s choice and how it related to the audience and shaped the meaning of the text.

The candidate sometimes selected or referred to an element for analysis, for example, ‘The sentence structure
throughout the whole text is easy to read’. To improve their answer, the candidate needed to include an analysis, or
where one was given they needed to develop it.

Common mistakes candidates made in this question

Some candidates did not use the appropriate terminology when they analysed form, structure and language.

For example, some described the style, mood, and vocabulary as having ‘positive connotations’ or ‘negative
connotations’ and candidates needed to elaborate and define these further. Some candidates summarised the
precisely constructed language effects as ‘creating an interesting image’ or ‘stopping the reader from being bored’.
However, it was important for candidates to use precise terminology to access the higher levels in this question; for
example, candidates often used ‘stream of consciousness’ and ‘personification’ incorrectly.

Some candidates focused on basic points about the arrangement and number of paragraphs in the text. Many
candidates also focused on sentence types, but this generally amounted to feature spotting rather than effective,
critical engagement. Some of these lower-level answers referred to the presence of short, long and complex
sentences, without any clear analysis.
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3

Many candidates adopted a paragraph-by-paragraph approach, using the phrase ‘in the ... paragraph’, or they
adopted an approach to analysis which ranged haphazardly across the text. Candidates needed to be aware that
the discriminator ‘analysis is coherent and effectively structured’ was a feature of the higher levels; a whole-text
approach would provide sophisticated and coherent analysis.

Some candidates gave limited discussions of form, for example, when referring to typical text conventions, the
ways in which the purpose affects the content and style of the text and the ways in which the article appeals to its
intended audience through tone and register.
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